it

kil

-
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8.5
9.6
10. 49
JUdx 2.x 3.x 4.x 5V
J.C 2C 3B 4.C 5B

J1.2 071 02 30 08 48 9 6
2.60 2.01 24

3. 30cm?

Ji

. (447)%1.8+2=9.9(F 7 k)

2. 12.4x25+(12.4-2.4)=31( %)

3. 9x6=54(-F 7 &) 30 JHK=0.3 K
54+(0.3x0.3)=600( 3% )

4. (1)1.5+(0.8+0.2)=1.5(%5%F)
(2)m%

5. 76x2+9.5=16(/Z K ) 9.5+16.5=26( Z K )
(2649.5)x16+2=284(F 7% 2K )

Bt i

it

ko

(312-153.05)+8.5=18.7(F /K )
153.05:18.7=~8( %)

MixE(+—)

% éf 10

2.H W 1315

1

10

4. 11.7m?

51428571 143

6.> < < = < =
4
7. 05
8. 60
Y S _13
9. O.2<25 <0.3< B <24

Jdx 2V 3x 4V o5V
B 2B 3.C 4B 5B
.26 03 09 2 35 0
2.123 076 0.72

3.15 12

4. 37.5¢m’

1. lem.2cm.3cm.6cm

0.09 04

HERHF

600x6=3600( )

g

kil

2. 14x3.2x0.7=31.36(F %)
3. 1209.6+(80+121.6)=6( ]}~ &)
4. (645%1.3)+10=83.85(F %)

5. BERmg A6 AR 5 A 2 A/ Ml

Bk

Bt R

(5000x0.8+1200+1000)+5000=1.24( 5T )
MixE(+2)

.1.240 420

2. A A

3.a b

4.0.85454-+ 0.854 0.85
5.24 48

6 19 25

44 44

1
7. —
4

8.105 9
9.36 10
10.
JUdx o 2.x 3V 4x 5V
J1.C 2.C 3.A 4C 5B
.05 02 016 13 007 7 06 11
2.4.08 2468 84 0.738
3. 14.25¢m*>  59c¢cm?
1. 120 A
2. 210+2+3.5=30(#&) 30x5%6.5=975(#%)
3. (16430)x26+2+2x2=598(cm?)
598x300=179400(cm?)=17.94(m?)
4. 50-2.5x2x3=35(v4.)
35+3.5+2=5(%)
5. BK T x4
0.6x+(0.6-0.1)x(20-x)=11.2
x=12

>

Bt in R

XF AR

40x40+2=800(cm?)

F4T(H£4m)

oW ok K oE BB - ¥ W
HERESETER

MixE(—)
—.1.72 06
2.18 180 1.8 0.18
3. > > > < =
4.0.16

5.53 533
6.57 57
7.44 44
Z.x 2V 3x 4V 5x
=.1.C 2B 3D 4B 5.C
M.1.5 009 6 04 1.6 6 0 0.03
2.302 84 093 350 0.66 4.06
3.42.14 408.98 25.54 3.57
.1 441:1.26=3.5 1%
2. (122.5+117.5)+96=2.5(.)

3. 108+24=4.5(vk) 4.5+1.5=6(v) 108+6=18(X)

4. (40.58-5.48)+1.5=23.4(F %)
23.4+40.58=63.98(F %)
5. (20-5)+2.5=6( /8 )  6+2=8(/NH})
B hn 5
(65.3-2.4x7)+5-2.4=7.3(F %)
MikE(Z)
—.l. x Vo ox V
2.(DEk 2 ()& 6 3)f 5
3.x x V.V V
—aV 2V 3x 4x 5V
=.1D 2B 3A 4B 5C 6A
M. 1.

2 W
3. &

4. B QmA - 58, FHm TR 2 4% R RO

HERHF

£ 1

AR 114, (BERE—)

5. %
Bfit i 1
1 [
L] O
MixE(=)
—\1.\/ X X
2. 1071.3711.2005 5450.42126.5550
1071.42126.3711.5550

42126.5550 5550 5550
3.8 2 3(EEFRE—)
4.3
5.2 4
6. % fE%k
7.6.12.24
8.0 0.6
9. k1 F

—.dx 2V 3V 4x 5V

=.1.A 2.C 3B 4C 5C 6.A

mM.1.(1)1.2.3.4.6.8.12.24

(2)24.48.72.96
(3)15.30.60

. %

.2.3.5.7.11.13.17.19

.5 3 3 2 29 2

.(1)9531 (2)1359 (3)9315

C/NBR11453=38(F 4,)

JNBE 2 3842=40(F %)

2. BR T HEAREN  HARHER AT LK

3.48 A

ER

—_ R~ W

4. [} 13.4 J6=1340 43,3 A Hic A i) A v 52 3

BOREEC, 1H 1340 FEANR 3 AOREEL, Ir LI

BT A R

T (#4m)

pa=
Al

INEL .38-2=36(F %)

B



5. 24=1x24=2x12=3x8=4x6 42=1x42=2x21=3x
14=6x7, A WA/NEHR A 6 K.
Bfit i
148 RV 2 i N ORI A AR 1 555
(DA S 3 BIRTEC, AR 2 8 BN S 3 B A5 4L
£ 1,
148=1x148 148=2x74 148=4x37
D148=1x148=147+1=49x3+1, 5 \FEM 1 #, i
(DI 147 Zl%, (—AERTRAZ L SZA)
148=4x37=4x(36+1)=4x(12x3+1), Frllf A
FaRE 4 B, D BE—3E4T 36 A2

X E ()

—.1.100 7280 %%k

2.0.1575

3.0.75 225

4.279 62

5.1 3

6.2 11 2 37

7.13

8.4 7 £ 7T F 6

9.1 2 4

JV 2V 3V 4x 5x 6V
JA.C 2A 3B 4B 5B
M.1.0.1 0.89 0.7 20 3 0.09 20 25
2.52 81.125 120 19.63
3.200 13.8 25 48
G
7501, 104.14+2.54=41(38+F)
2. 147.4+(23421)=3.35(F %)
3. 0.45x32+0.6=24(T.)
4. 2610+(1-0.13)=3000(5T.)
5.263.2+2.8-263.2+3.5=18.8(F K/ B )
B hin 5
(495+180)+22.5=30( k)
Mgt ( A )
—.1.23.7 6.14.21.42 1
CBEBREL S O 4RZEBR
.9.15 2
.38.7
. 17.48 3780
<> = = < >
. 27600
4

\S]

IS e NI S O

RAFERHF

9.0.45 0.455
10.3 3 &£ 5
—.1V 2V 3x 4x 5V
=.1.A 2B 3B 4.C 5C 6A
M.1.39 3.1 25 31 10 125 7 30
2.126 405 7.5 618 075 2.5
3.51 612 3 9
G
NG (DB CH)PER A (S)FERT LA, 7L (2)FF 1
(4HEARTFTLL, R LA FE N BOR T8
2. (80-45.6)+2.5~=13.76( % ), Fr AL W] LL3K 13
o
3. 196+8+5=4.9( &)
4. (1)175.5+6.5=27(A)
(2)m%
B hn R

®

+

MDD

MiKE(75)
—1.9 10 9
2.38 0038 500000 2 5
3.KEF K % Kx¥E ExE
4h b a ;—(a+b)h

5.6
6. 35
7. 50
8. 90
Z.x 2x 3x 4V 5V 6V
=.1.B 2B 3.C 4B 5A 6.C
M3 2 495 16 1125 27
F.700cm* 37.5cm*  88cm’
75 g
+.1. 3x4:2=6(dm?)  6x1000=6000(dm?)=60m>
2. (3+1)x1+2=2(m?)
3. 60x40-60x2=2280(m?)
4. 5+48-1=12(4%) (5+12)x8+2=68(4%)
Bit nRR
6x6+4x4=52(cm?)
(6-4)x6+2+4x4:2+6x(6+4 )+2=44(cm?)

E 2T (*4T)

AMikE(L)

T 1 2 2
Je > v 9 <%
2./MF 10 KTEEET 10
31234612 1.23.6.9.18
4.5 150

13
s. L3

8 8
6.> = >
7.6 8 30 12
8.105 195

3
9.3

—aV 2x 3x 4V 5x 6.x
=.1.C 2B 3C 4A 5A B 6C
M. 1. m%

2.8 s AR L

3

3.5;60 7;70 6;240

1.2.3.6 6

3 1
5 4

21 5 10 11 48 15 28
435355 36 ™36 60 60 Moo

tJ_§>%nmu%:awa%m

2. 38-30=8( %) 8+38=14—9 (8+2)+(38+2)=41T

3.6 41; B IRl 9 44, LA 10 44

4.(1)8 12 H (2)8E,% 8 Ik
Bt A

8

15

MixB(I\)

—.1.60 320000 5 320

2. 8B SETR CEK

3.30

4. 56

5.24

6. 9000 0.9
—.1B 2.C 3A 4A
=.1.69.7m> 454m’

2. 66cm>  1380cm?> 135.75¢m>  87cm?
3.5 1 A 3x5+(3+45)x(6-3)+2=27(m?)
2 2 . 3%6+(3+6)x(5-3)+2=27(m?)

HEFERHF

3 F i 3x5+246x5+2+3%(6-3)+2=27(m?)
%

5 F.OLEE L 16 45,8 B4, 8+16+2=16(cm?)

2. 10x20+20x10+2=300(cm?)
3. (40-1)x(60-1x2)=2262(m?)
4. 442x2+34=26(cm) (20+34)x26+2=702(cm?)
5. Tx7+2-3x3+2=20(cm?)
Bfit in
(143)x(14243)+2=12(m?)
1x(142)+2=1.5(m?)
3x3+2=4.5(m?)

5 12-1.5-4.5=6(m?)

MixE( )
—.1.3 3 R
2. (1)1 (2)2 4

3. Kk —HK

4.(1)6 # (2)5 1 (X%ExRE—) (3)3 3
5.41

6. K /N —FK

CZ ANV 2V 3x 4V
© = 1A 2B 3A 4C

%
T B P 274
2.3 5671

3. A AR BB 6 Bl 0, 1A DU
A 10 FIEBL, BT LUK R A -
4. COARZA, A g /i 0 1) mT RE A BE /1N 9

/Mo
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Bt
SR AT REMER K
MikE(+)

—.1L> = < >

4.0 1 2 4
5.— 14
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